UUUUIUU, @@—KM@@@N N

Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-11
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
FARM MACHINERY AND POWER
(AGENGG-211)

Time : 2 Hours

Section—1I : 10

Maximum Marks : 70
Section—11:60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5. 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,

only the English version be taken as correct.
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SECTION - I
Qus - 1
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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(iv) In 4-stroke diesel engine, the inlet valve gets opened at D

(1) 5° before TDC
(2) 5° after BDC

(3) 10° after BDC
(4) 5° after TDC.

IR-RF S 351 ¥ T aed g I @
(1) 5° 9@ AZH.

(2) 5° 9% L

(3) 10° IR 2.

4) 5° AR A=

(v) The small end of connecting rod is connected to D

(1) Crank shaft

(2) Piston

(3) Cam shaft

(4) None of the above.

FARRT BT w1 B G I o @
(1) < MR 9

2 freaw

(3) ®H MR I

4) SR ¥ q *E =

(vi) The part of tractor which is used to mix air and fuel is D
(1) Fuel tank

(2) Fuel pump
(3) Sediment bowl
(4) Carburettor.
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(3) VM= FM

(4) wHEEU
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{.« (Vll) What is the value of disc angle in standard disc plough?
(1) 0-10 Degree
(2) 42-45 Degree
(3) 30-35 Degree
(4) 15-25 Degree.
e e 7 ¥ feth 0T F AE B Q
1) o-10 feit
2) 42-45 et
3) 30-35 feut
@ 15-25 fein

* (viii) Thermal efficiency of petrol engine is l:l
1) 50-60%
@ 25-32%
3) 70-80%
@) 32-38%.
R 397 F wia g o §
1) 50-60%
2) 25-32%
3) 70-80%
@4 32-38%.

(ix) In compression stroke [:l
(1) Inlet valve remains open
(2) Both the valves remain closed
(3) Both the valves remain open
(4) Exhaust valve remains open.
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In 4-stroke cycle engine, crank shaft rotates ..............o........ rounds. [___l
1 1

2 3

@ 2

@ 12

2. Fill in the blanks : (10x0.5=5)
R woml &t gfd wif

®

(i)

(i)

(iv)

)

Newton:is the unit of ... o e e in S.I. system.

A YR W AL ks e e # e B

The vertical distance between TDC and BDC is called ...

o A A e | T 5 B £ A 5 OO
Fed B

Petrol engine is also known as .................

Qe o7 H . W @ S R

Firing order in 4-stroke 4-cylinder engine is

IR-RF aR-favet 59 A 0T B ......... T ?1
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I

FARM MACHINERY AND POWER
(AGENGG-211)

SECTION - 11
gue - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
forares A (99 WM 3, 4, 5, 6 W 7) B IW D T IW-Yfaew ¥ frmd §1 Sw-gfe
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v 9 1 WE- el TR WY | W1 g 2

3. Define the following : (5x1=5)
freafafea =t afenfya FifT -

(i) Compression ratio.

it GG

(i) Theoretical field capacity.

Ygitas 91 awam

(iii) Thermostate valve.

IiRe Jed|
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the following: (2x3.5=1)

 (2x6=12)

pEt

mechanism with neat sketch.

(2x8=16)
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(i) Explain the working of Four-stroke diesel engine with neat sketch
m_g}mmamaﬁmyvmaﬁwaﬁamml

(iii) Explain calibration of seed drill with formula.
e 9f & ST F g afea =ren Ftw

7. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20) :
frafafea d7 7 4 4 5= @ @ 3w 23 99 F A

() Explain different types of Primary tillage implements with neat sketch.
faf= y6R = wafts o o5 w1 ma afea aren st

(i) Explain the pump or forced circulation water cooling system of L.C. engine in detail
with sketch.

H<EET IS B T AYAT Tl IREER o Geiaer 9F @ 4R § IRE Hfea AR
T gugmEl

(iii) Calculate the seed rate of a seed drill from following data :
Size of seed drill = 9 x 20 cm, Diameter of wheel = 1.5 m, Number of rotations of
wheel = 500, Dropped seed = 20 kg.
frafafad el @ 99 9 & 69 K H 0 HIN6T -
#IM R W SER =9 x 20 ¥R, 9T W AW =15 He, ew & T @/
& =500, frA 9t st &t "En =20 fwm
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